# FEBRUARY IS SCHOOL BOARD RECOGNITION MONTH

Giuliano Cecchinelli II Chris Parker Terry Reil Emily Reynolds Sonya Spaulding Nancy Leclerc Sarah Pregent Michael Boutin Paul Malone

# THANK YOU FOR ALL THAT YOU DO!!











Spaulding Educational Alternatives

#### BARRE UNIFIED UNION SCHOOL DISTRICT BOARD MEETING

February 14, 2024 at 6:00 p.m.

**In-Person:** Spaulding High School, 155 Ayers Street, Barre **Virtual Option:** Click this link to join the meeting remotely:

Meeting ID: meet.google.com/vxi-arvi-mgb

Phone Numbers: (US)+1 929-777-4801 PIN: 769 689 006#

**PLEASE NOTE:** If you attend the meeting virtually and the video link fails, we will still proceed with the meeting at the assigned in-person location. You must state your name for the record to satisfy the Open Meeting Law.

Public comment is welcomed and limited to 2 minutes per agenda item. The board will hear public comments and questions, but won't respond directly during public comments. This can feel impersonal, but is in place to allow the board to stay on task and address the work of the board for that meeting.

### **AGENDA**

6:00	1.	Call to Order
6:05	2.	Pledge and Mindfulness Moment
6:10	3.	Additions or Deletions with Motion to Approve the Agenda
6:15	4.	Comments for Items Not on the Agenda 4.1. Public Comment 4.2. Student Voice
6:30	5.	Consent Agenda 5.1. Regular Meeting Minutes - January 24, 2024 5.2. Special Meeting Minutes - February 1, 2024 5.3. Warrant Approval: January 18, 2024, January 31, 2024 & February 7, 2024
6:40	6.	Current Business 6.1. New Hires [ACTION] 6.2. Community Members on BUUSD Board Committees Procedure / Newspaper AD 6.3. Spaulding High School Stormwater Project [ACTION]
7:40	7.	Old Business 7.1. Action Plan Memos 7.2. Act 127 Update
7:50	8.	Future Agenda Items
7:55	9.	Next Meeting Dates: February 28, 2024, SHS Library and via Google Meet (vacation week) March 13, 2024, Spaulding High School Library and via Google Meet
8:00	10.	Executive Session
	11.	Adjournment

#### **PARKING LOT OF ITEMS**

- A. Community Building (added by Mrs. Spaulding Dec. 20)
- B. Procedures and Processes and How Behavior Issues are Reported (added by Mr. Boutin Oct. 25)
- C. Follow up on Middle School Athletic Program (Quarterly)(added by Mrs. Spaulding Oct. 25)
- D. Procedures for F3 & F4 Policies (added by Mrs. Leclerc Oct. 11)
- E. Consolidation of Buildings (Articles 3 & 4) (November)
- F. 5-Year Capital Plan (Ongoing)
- G. SHS Athletic Fields (Ongoing)
- H. Board Member Participation in Exit Interviews (added by Mr. Boutin, June 2023)
- I. Enrollment/Home Study (Quarterly: Nov., Jan., Apr. and June)
- J. CIA Plan Update (Quarterly: Nov., Jan., Apr. & June)
- K. Special Education Staff and Child Count Data Report (Quarterly Nov/Jan/April/June)

- L. Discipline Data (Quarterly Nov/Feb/April/June)
- M. Behavior Committee (added by Mr. Boutin Nov. 29)

#### **ITEMS FOR COMMITTEES**

- A. Electronic Storage (Finance Cmt First)(added by Mrs. Leclerc Oct. 25)
- B. Total Compensation Package (added by Mrs. Leclerc Sept. 2023; Finance Cmt First)
- C. Update New Accounting Software (added by Mrs. Leclerc Aug. 2023; Finance Cmt First November)
- D. Student Weighting Formula Budget Development (Finance Cmt: Aug. 21)

#### **BOARD RETREAT ITEMS**

A. New Governance Standards (added by Mrs. Reynolds Sept 2023; New Standards go into Effect July 2025)

#### **MEETING NORMS**

- 1. Keep the best interest of the school and children in mind, while balancing the needs of the taxpayers
- 2. Make decisions based on clear information
- 3. Honor the board's decisions
- 4. Keep meetings short and on time
- 5. Stick to the agenda
- 6. Keep remarks short and to the point
- 7. Everyone gets a chance to talk before people take a second turn
- 8. Respect others and their ideas

#### BARRE UNIFIED UNION SCHOOL DISTRICT REGULAR BOARD MEETING

Spaulding High School Library and Via Video Conference – Google Meet January 24, 2024 - 6:00 p.m.

#### **MINUTES**

#### **BOARD MEMBERS PRESENT:**

Giuliano Cecchinelli, II (BC) – Chair Chris Parker (BT) – Vice Chair Paul Malone (BT) - Clerk Nancy Leclerc (At-Large) Sarah Pregent (BC) Terry Reil (BT) Michael Boutin (BC) (arrived at 7:19 p.m.) Emily Reynolds (BT) Sonya Spaulding (BC)

#### **BOARD MEMBERS ABSENT:**

#### **ADMINISTRATORS PRESENT:**

Chris Hennessey, Superintendent
Melissa Greenwood, Assistant Principal
Carol Marold, Director of Human Resources
Reed McCracken, Interim Administrator - SEA
Jennifer Nye, Principal
Erica Pearson, Principal
Brenda Waterhouse, Principal
Mari Goodridge Miller, Principal
Ted Mills, Assistant Principal
Luke Aither, Principal
Stacy Anderson, Director of Special Services
Karen Fredericks, Director of Curriculum, Instruction and Assessment

#### **GUESTS PRESENT:**

Dave Delcore – Times Argus	Marc Bernier	Mary Bowers	Sue Brennan	James Carpenter
•		•		*
Jennifer Bisson	Cassandra Demarais	Alice Farrell	Kristin Gilbar	Garrett Grant
Miranda Green	Carol Hebert	Sarah Hill	Josh Howard	Prudence Krasofski
Colleen Kresco	Jody Leone	Karen Moran	Victoria Pompei	Maria Richards
Jackie Wheeler	Mariah Routhier	Rachel Van Vliet	Catherine Walen	Lori Bernier
Jeff Blow	Jan Trepanier	Bern Rose	Brody Preddy	Landen Neul

#### 1. Call to Order

The Chair, Mr. Cecchinelli, called the Wednesday, January 24, 2024, Regular meeting to order at 6:00 p.m., which was held at the Spaulding High School Library and via video conference.

#### 2. Pledge and Mindfulness Moment

The Board recited the Pledge of Allegiance. The Board held a Mindfulness Moment.

#### 3. Additions and/or Deletions to the Agenda

Added Agenda Item under Old Business 9.1 (Budget Narrative Issues)

Added Agenda Item under Current Business 8.4 (Discussion with Building Administrators)

Add Executive Session 13.2 Personnel (representation petition with the representatives, both principals and assistant principals)

Add Executive Session 13.3 Attorney-Client Communication - 1 V.S.A. § 313(a)(1)(F) will be taken out of order

On a motion by Mrs. Spaulding, seconded by Mrs. Pregent, the Board unanimously voted to approve the Agenda as amended. Mr. Boutin was not present for the vote.

13.3 Attorney-Client Communication - 1 V.S.A. § 313(a)(1)(F) proposed for discussion in Executive Session taken out of order.

On a motion by Ms. Parker, seconded by Mrs. Pregent, the Board unanimously voted to enter into Executive Session at 6:07 p.m. under the provisions of 1 V.S.A. § 313(a)(1)(F) to discuss the items proposed for discussion. Mr. Boutin was not present for the vote.

Board returned from Executive Session at 6:48 p.m. and proceeded with the meeting agenda.

#### 4. Public Comment for Items Not on the Agenda

#### 4.1 Public Comment

Bernadette Rose shared attending the Voting Expo put on by the SHS Student Council and she was impressed. Well run, so proud of them Kids, and they really got into participating in the voting. Thrilled to be able to come and witness it, it was wonderful, Bang up job!

Lori Bernier shared budget concerns. Asking if the board has considered the balance or in balance between schools?

Mr. Malone and Mrs. Leclerc recognized Andrea Poulin for her many years as a scribe for committees and boards with BUUSD. Good luck, we will miss you.

Mrs. Leclerc expressed concerns about the growing list of items in the parking lot needing to be addressed and managed. Rachel Van Vliet, President of Barre Educator Association (BEA) shared that the BEA executive council unanimously voted to endorse the BUUSD School Budget. It addresses the needs of students, family, staff and community. Act 127 should be used to meet the basic needs of students which is how BUUSD is using it, increasing spending to meet the significant needs of our students.

#### 4.2 Student Voice

None.

#### 5. Faculty /Staff - Reports/Presentations

#### 5.1 CIA Plan Update

A document with Winter STAR Assessment, NAEP Comparison, and K-8 Progress Monitoring Update was distributed Karen Fredericks, Director of Curriculum, Instruction and Assessment, spoke through highlights of the three categories. In addition to these highlights presented, Winter 2023 and Fall 2024 STAR assessment stats were provided at the meeting before engaging in discussion and answering questions posed by board members.

#### 5.2 Special Education Staff and Child Count Data Report

A document titled "BUUSD Special Services Board Report January, 2024" was distributed.

Stacy Anderson, Director of Special Services, referenced the data in her report. Sharing AOE Monitoring data was provided the next day and included in the board addendum before engaging in discussion and answering questions posed by board members.

#### 6. Consent Agenda

#### 6.1 Approval of Minutes - January 4, 2024 Special Meeting

On a motion by Mr. Malone, seconded by Mrs. Pregent, the Board unanimously voted to approve the Minutes of the January 4, 2024 Special Meeting. Mr. Boutin was not present for the vote.

#### 6.2 Approval of Minutes – January 10, 2024 Regular Meeting

On a motion by Mrs. Pregent, seconded by Mrs. Leclerc, the Board voted unanimously to approve the Minutes of the January 10, 2024 Regular Meeting with amendment from Mr. Reil. Mr. Boutin was not present for the vote.

#### 6.3 Warrant Approvals – January 4, 2024 and January 11, 2024

On a motion by Mrs. Spaulding, seconded by Mrs. Pregent, the Board unanimously voted to approve the Warrants dated January 4, 2024 and January 11, 2024. Mr. Boutin was not present for the vote.

#### 7. Building Reports

#### 7.1 Building Reports: BCEMS, BTMES, SHS, SEA

Copies of Building Reports were Distributed.

Administrators from each building engaged in discussion and answering questions posed by board members. Much praise was given by Board members for hard work and multiple positive events taking place within the buildings.

#### 7.2 Superintendent Report

A copy of the Superintendent's Report was distributed.

Mr. Hennessey added FY25 Budget communications/presentations were sent out for community members to review. Budget Information Night is February 1, 2024 at 6:00 pm at Spaulding High School Library. The superintendent engaged in discussion and answered questions posed by board members.

#### 8. Current Business

#### 8.1 New Hires

The resumes and BUUSD Notification of Employment Status Forms for Jodi Bartley (BCEMS Math Interventionist) and Wren Lansky (SHS Social Studies Teacher) were distributed.

Mr. Hennessey provided an overview of the candidate, and answered questions from the Board.

On a motion by Mrs. Pregent, seconded by Mrs. Leclerc, the Board unanimously voted to approve the hiring of Jodi Bartley and Wren Lansky.

#### 8.2 Announced Tuition

A document titled Background on Announced Tuition dated 1/8/2024 was distributed.

A document titled FY25 Announced Tuition Data Collection Reporting was distributed.

The announced tuition are as follows; Elementary K - 6: \$18,000, and Secondary 7 - 12: \$18,500.

Mr. Hennessey provided a brief overview of this process which is performed annually and engaged in discussion and questions from board members.

On a motion by Mrs. Spaulding, seconded by Mrs. Pregent, the Board unanimously voted to approve the Annual Tuition Rates as proposed (K-6 \$18,000 / 7-12 \$18,500 ).

#### 8.3 Enrollment/Home Study

A document titled District Enrollment/Staffing – January 2024 was distributed.

A document titled Home Study Report (AOE provided data) was distributed.

Mr. Hennessey provided a brief overview of the quarterly report, noting that there is an increase in students since a year ago, 2205 to 2274. It's been a fairly steady enrollment from month to month this year.

The superintendent answered clarification questions from board members. Mr. Reil, Mr. Boutin, and Mrs. Pregent made valid points regarding teacher to student ratios at both elementary and middle school buildings in terms of consolidating from an equity perspective. Mrs. Leclerc requested a dollar amount spent on outside placed students be provided to the Board.

#### 8.4 Discussion with Building Administrators

No Discussion took place.

#### 9. Old Business

#### 9.1 Budget Narrative Issues

Mr. Reil shared that the last narrative provided has inaccurate information. It excluded PreK and Transportation from Barre Town, Barre City, and the Central Office. Barre Town actually gets better, in the original narrative it was going back 2.29% it goes up 1.91% backwards, still a negative but not quite as much. Barre City goes from 14.34% down to 13.8% and same with Central Office it goes from 18.1% increase down to a 16.47% increase. Mr. Reil noted the number at the bottom was correct and this doesn't impact what we voted on, it just impacts the numbers at the buildings. Mr. Hennessey provided some clarifications about the narrative and that it will be updated and added to the website.

Mrs. Spaulding requested the Annual Meeting Warning, in the addendum, be approved now as it kind of coincides with the budget and isn't on the agenda.

On a motion by Mrs. Spaulding, seconded by Mrs. Pregent, the Board voted 7 to 1 to approve the Annual Meeting Warning. Mr. Reil voted against the motion.

#### 10. Committee Reports

#### 10.1 Finance Committee

Minutes from the January 4, 2024 meeting were distributed. No discussion.

The next meeting is Monday, February 19, 2024 at 6:00 p.m. in the Spaulding High School Library and via video conference.

#### 10.2 Facilities & Transportation Committee

Minutes from the January 8, 2024 meeting were distributed.

The next meeting is Monday, February 5, 2024 at 6:00 p.m. in the Spaulding High School Library and via video conference.

#### 10.3 Policy Committee

Minutes from the January 17, 2024 meeting were distributed. No discussion.

The Wednesday, February 21, 2024 meeting is canceled. The next meeting is Wednesday, March 20, 2024 at 6:00 p.m. in the Spaulding High School Library and via video conference.

It was noted there will be new members as reorganization will take place in March.

#### 10.4 Curriculum Committee

No meeting occurred in January 2024; next meeting TBD

#### 10.5 CVCCSD Board

Minutes from the January 8, 2024 meeting were distributed. No discussion. The next meeting is February 12, 2024.

#### 11. Future Agenda Items

- Appointment of Community Members to Committees
- Action Plan Memos

#### 12. Next Meeting Dates

Regular Meeting - Wednesday, February 14, 2024 at 6:00 p.m. in the Spaulding High School Library and via Video Conference (Google Meet). – Packet will be sent Friday with Addendums on Monday.

Wednesday, February 28, 2024 at 6:00 p.m. in the Spaulding High School Library and via Video Conference (Google Meet). (Noted that February 28th is a vacation week)

#### 13. Executive Session as Needed

- 13.1 Superintendent Evaluation
- 13.2 Personnel (representation petition with the representatives, both principals and assistant principals) proposed for discussion in Executive Session.
- 13.3 Attorney-Client Communication 1 V.S.A. § 313(a)(1)(F) taken out of order and discussed after Additions and or Deletions to the Agenda

Mr. Reil suggested taking 13.2 out of order and discussing it first in executive session.

On a motion by Mr. Malone, seconded by Mrs. Pregent, the Board unanimously agreed to find that premature general public knowledge of the items proposed for discussion (related to a petition for recognition submitted to the BUUSD by the principals and assistant principals) would clearly place the petitioners and or the school board at a substantial disadvantage should the discussion be public.

On a motion by Mr. Malone, seconded by Mr. Boutin, the Board unanimously voted to enter into Executive Session, with the Superintendent, Principals and Assistant Principals in attendance, at 8:42 p.m. under the provisions of 1 V.S.A. § 313(a)(1)(F) to discuss the items proposed for discussion.

The remaining information was provided by the Board Clerk.

On a motion by Mrs. Leclerc, seconded by Mr. Boutin, the Board unanimously voted to exit Executive Session at 9:50 p.m.

#### 14. Adjournment

On a motion by Mr. Boutin, seconded by Mrs. Spaulding, the Board unanimously voted to adjourn at 9:53 p.m.

Respectfully submitted, *Tina Gilbert* 

# BARRE UNIFIED UNION SCHOOL DISTRICT SPECIAL BOARD MEETING

Spaulding High School Library and Via Video Conference – Google Meet February 1, 2024 - 7:00 p.m.

#### **MINUTES**

#### **BOARD MEMBERS PRESENT:**

Giuliano Cecchinelli, II (BC) – Chair Chris Parker (BT) – Vice Chair Paul Malone (BT) - Clerk Nancy Leclerc (At-Large) Sarah Pregent (BC) Terry Reil (BT) Michael Boutin (BC) Emily Reynolds (BT) Sonya Spaulding (BC)

#### **BOARD MEMBERS ABSENT:**

#### **ADMINISTRATORS PRESENT:**

Chris Hennessey, Superintendent

#### **GUESTS PRESENT:**

#### 1. Call to Order

The Chair, Mr. Cecchinelli, called the Thursday, February 1, 2024, Special BUUSD Board meeting to order at 7:25 p.m., which was held at the Spaulding High School Library and via video conference.

2. Additions and/or Deletions to the Agenda

On a motion by Mrs. Pregent, seconded by Mrs. Spaulding, the Board unanimously voted to approve the Agenda as presented.

#### 3. Executive Session

3.1 Superintendent Evaluation 1 V.S.A § 313 (a)(3)

On a motion by Mrs. Pregent, seconded by Mrs. Spaulding, the Board unanimously voted to enter into Executive Session at 7:25 p.m. under the provisions of 1 VSA § 313 (a)(3) to discuss the items proposed for discussion.

The remaining information was provided by the Board Clerk.

On a motion by Mrs. Spaulding, seconded by Mrs. Pregent, the Board unanimously voted to exit Executive Session at 7:27 p.m.

On a motion by Mrs. Spaulding, seconded by Mrs. Pregent, the Board unanimously voted to re-enter into Executive Session, inviting the superintendent, under the provisions of 1 VSA § 313 (a)(3) to discuss the items proposed for discussion.

On a motion by Mrs. Spaulding, seconded by Mrs. Pregent, the Board unanimously voted to exit Executive Session at 7:53 p.m.

On a motion by Mrs. Spaulding, seconded by Mrs. Pregent, the Board unanimously voted to approve the Superintendent's evaluation as presented.

On a motion by Mr. Reil, seconded by Mr. Malone, to amend previous motion to remove the first sentence in the Evaluation Summary stating "The Barre Unified Union School District Board commends the Superintendent's performance in the past year..." as this statement is not supported by the full Board.

Mrs. Spaulding declared a Point of Order, stating the Mr. Reil and Mr. Malone's motion contained executive session material.

#### Discussion ensued

Mrs. Pregent called the question, the Board voted 5 to 3 to approve the Superintendent's evaluation as presented.

Mr. Boutin, Ms. Parker, Mrs. Pregent, Ms. Reynolds and Mrs. Spaulding voted for the motion. Mr. Reil, Mr. Malone, and Mrs. Leclerc voted against the motion.

#### 6. Adjournment

On a motion by Mrs. Spaulding, seconded by Mrs. Pregent, the Board unanimously voted to adjourn at 7:57 p.m.

Respectfully submitted, *Tina Gilbert* 

### **Community Members on BUUSD Board Committees Procedure**

Annually on February 1<sup>st</sup>, the BUUSD Board of Directors will solicit for two weeks, interested persons who wish to serve as a community member for open or available seats on standing BUUSD Committees. The standing committees include the Policy, Finance, Curriculum, and Facilities Committees.

The appointments will be for a period of two years and will begin on April 1<sup>st</sup> of the appointment year and expire on the March 31<sup>st</sup> of the second year.

Interested persons shall submit a letter of interest to the BUUSD Board of Directors and shall be a registered voter. The Board will interview, discuss, and appoint community members to the committees at the second Board meeting in March.

A single community member from each community, Barre City and Barre Town, will be appointed to each standing committee. Additionally, a community member that has pertinent subject matter experience, whose knowledge could benefit the committee, may be consulted by the committee as needed.

Community members that have been appointed to the committee by the BUUSD Board shall have voting privileges. Community members serving on committees may not hold the position of Chair or Vice-Chair. Community members will be required to complete a background check and fingerprinting before assuming their position on the committee.

If an appointed community member is no longer able to serve the remainder of their term, they are encouraged to resign so another community member may fill the empty seat on the committee. If a committee seat is not filled during the initial March appointments, that seat may be filled at any time during the existing term by the Board once a community member has expressed interest and is interviewed and appointed. An appointment to an open or vacated seat will be for the original term or the remainder of the resigning member's term. The same guidelines as above will apply for filling open or vacated seats.

Community members may serve on multiple committees and there are no limits to the number of terms/years a community member may apply and serve on a committee or committees, although they will need to submit a letter of interest and be appointed each year. Community members serving on the board's committees will be unpaid volunteers.

Approved February 9, 2023

# ATTENTION BARRE CITY AND BARRE TOWN RESIDENTS NEEDED BUUSD COMMUNITY SEATS ON COMMITTEES

# BARRE UNIFIED UNION SCHOOL DISTRICT'S FOUR COMMITTEES

(Finance, Facilities/Transportation, Policy, and Curriculum) ONE VACANT SEAT FOR BARRE CITY ONE VACANT SEAT FOR BARRE TOWN

Barre City and Barre Town residents are needed to fill open committee seats in the Barre Unified Union School District. Community Members may serve on multiple committees and there are no limits to the number of terms/years a community member may apply and serve. The successful candidate will hold the position until the 2026 March annual meeting at which time the term will end and community members will need to reapply. Interviews will take place at the Barre Unified Union School District Board meeting at 6:00 p.m. on Wednesday, March 27, 2024. Please submit your interest in writing by mail, email or in person to the Executive Assistant to the Superintendent, Tina Gilbert by noon on Monday, March 25, 2024.

For additional information please view this link:

How to Engage with the BUUSD Board

Also located on our website (buusd.org) under District, BUUSD Board page.

Tina Gilbert
tgilbbsu@buusd.org
BUUSD Central Office
120 Ayers Street
Barre, VT 05641

#### SHS STORMWATER MITIGATION PROJECT

The stormwater mitigation project for Spaulding High School is ready to be implemented. The design phase is complete, state permits for the project have been obtained and the project is ready to be put out to bid. The project has been reviewed and approved by the Facilities Committee, with several visits by the engineering firm designing the project.

Funding for the project is being managed by Greenprint Partners, who was hired by the state of Vermont to oversee these projects. We have been notified that we will receive 90% funding for the project, along with our match of 10%. The cost for the project is \$638,000, our portion of the 10% match will be \$63,800.

The project will need BUUSD school board approval to expend these funds. With board approval, the project can move forward. The date for construction is summer of 2024.



Bedford, NH 03110
Randolph, VT 05060
S Burlingt V/T 0540

(603) 883-0463 (802) 728-3376 (802) 878-7661 ☐ Springfield, VT 05156 (802) 591-4326

Engineering • Planning • Development • Management

JOB	GSI Spaul	ding High S	School		
SHEET	NO	11	OF	1	
CALCULATED BY:		SLR	DATE:	10/22/2023	
CHECKED BY:		CJR	DATE:	10/22/2023	
SCALE					

ITEM NO.	DESCRIPTION	UNIT	QUANT.	UNIT PRICE	AMOUNT
203.15	COMMON EXCAVATION	CY	4300	\$15.00	\$64,500.00
203.28	EXCAVATION OF SURFACES AND PAVEMENTS	CY	530	\$55.00	\$29,150.00
203.30	EARTH BORROW	CY	15	\$40.00	\$580.00
203.31	SAND BORROW	CY	235	\$40.00	\$9,400.00
204.20	TRENCH EXCAVATION OF EARTH	CY	795	\$25.00	\$19,875.00
204.25	STRUCTURE EXCAVATION	CY	65	\$30.00	\$1,950.00
301.26	SUBBASE OF CRUSHED GRAVEL, FINE GRADED	CY	5	\$60.00	\$300.00
406.35	SUPERPAVE BITUMINOUS CONCRETE PAVEMENT	TON	25	\$200.00	\$5,000.00
529.25	REMOVAL OF CONCRETE OR MASONRY	CY	8	\$160.00	\$1,280.00
601.0900	8" CPEP	LF	80	\$60.00	\$4,800.00
601.0905	12" CPEP	LF	230	\$80.00	\$18,400.00
601.0910	15" CPEP	LF	717	\$90.00	\$64,530.00
604.20	PRECAST CONCRETE CATCH BASIN WITH CAST IRON COVER	EA	2	\$6,500.00	\$13,000.00
620.55	REMOVING OF EXISTING FENCE	LF	1335	\$10.00	\$13,350.00
621.20	STEEL BEAM GUARDRAIL, GALVANIZED	LF	565	\$25.00	\$14,125.00
635.11	MOBILIZATION/DEMOBILIZATION	LS	1	\$67,000.00	\$67,000.00
641.11	TRAFFIC CONTROL, ALL-INCLUSIVE	LS	1	\$10,000.00	\$10,000.00
651.15	SEED	LB	205	\$12.00	\$2,460.00
651.35	TOPSOIL	CY	2010	\$50.00	\$100,493.72
653.10	HAY MULCH	TON	2.70	\$1,200.00	\$3,240.00
653.35	STABILIZED CONSTRUCTION ENTRANCE	CY	80	\$70.00	\$5,600.00
653.40	INLET PROTECTION DEVICE, TYPE I	EA	5	\$200.00	\$1,000.00
653.475	SILT FENCE, TYPE I	LF	1325	\$5.00	\$6,625.00
653.476	SILT FENCE, TYPE II	LF	235	\$7.00	\$1,645.00
653.55	PROJECT DEMARCATION FENCE	LF	1650	\$1.50	\$2,475.00
678.23	WIRED CONDUIT	LF	64	\$24.00	\$1,536.00
679.24	REMOVE STREET LIGHT POLE	EA	4	\$1,800.00	\$7,200.00
679.25	REMOVE AND RESET LIGHT POLE	EA	1	\$6,250.00	\$6,250.00
900.620	SPECIAL PROVISION (CORING CONCRETE)	EA	3	\$900.00	\$2,700.00
900.620	SPECIAL PROVISION (8" CPP 45° ELBOW)	EA	2	\$150.00	\$300.00
900.620	SPECIAL PROVISION (BOULDERS)	EA	12	\$2,500.00	\$30,000.00
900.620	SPECIAL PROVISION (BEEHIVE GRATE)	EA	2	\$500.00	\$1,000.00
900.620	SPECIAL PROVISION (SWING GATE)	EA	2	\$5,000.00	\$10,000.00
	Running Total	and the			\$519,764.72
	Contingency (15%)				\$77,964.71
	CONSTRUCTION COST	CKA			\$598,000.00
	OTHER COSTS	160		SYNEW STEELS	
	Bid/Construction Phase Services				\$40,000.00
	OTHER COSTS TOTAL				\$40,000.00
	Grand Total				\$638,000.00

NOTE: In providing opinions of probable construction costs, the Client understands that DuBois & King, Inc. has no control over the cost or availability of labor, equipment or materials, or over market conditions or the Contractor's methods of pricing, and that our Opinion of Probable Construction Costs are made on the basis of our professional judgment and experience. DuBois & King, Inc. makes no warranty, expressed or implied, that the bids or the negotiated costs of the Work will not vary from the Opinion of Probable Construction Cost provided herein.



# **BUUSD**

## Barre Unified Union School District

# ACTION ITEM BRIEFING MEMO BUUSD CURRICULUM COMMITTEE AGENDA ITEM BUUSD CURRICULUM COMMITTEE AGENDA: ##DATE##

Consent Item No.: Discussion Item No Action Item No
AGENDA ITEM DESCRIPTION(How the item shall appear on the agenda):
SUBJECT(Explain what the item is):
SUBMITTING STAFF PERSON or COMMITTEE MEMBER:
RESOURCES NEEDED INCLUDING STAFF TIME:
STAFF RECCOMENDATION:
<b>DESIRED OUTCOME</b> (What is the purpose of this item):
BACKGROUND/SUPPLEMENTAL INFORMATION(If there is an background/history regarding it please advise):
LINK(S):
ATTACHMENTS:
INTERESTED/AFFECTED PARTIES:
RECOMMENDED ACTION/MOTION: